


Find the y-intercept and
the slope for each of the following. S
A AA

D5y =10 =15x — 3(
H4(x+3)+2y=11
)2(y-=T7)+2=3(x—-4)+y




y-int.: -4

slope: 3
)3y —10=15x-30
Sy=15x-30+10
Sy=15x-20
y=3x-4




y-int.: - 1/2

slope: =2
b) 4(x+3)+2y=11
4x+12+2y=11
2y=11-4x-12

2y=-4x-1
y=-2X-1
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yint: O
slope: 3
c) 2(y-7)+2=3(x-4)+y
2y-14+2=3x-12+y
2y-y=3x-12+14-2
y=3x+0
y=3X
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J=lkH)

10



y-int.: _5
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y-int.: b

slope: )

i

equation: (J = b

d
Y=g+

-Mcm\nQa =4



y-int |Sbng£

dope: Undefinad S

equation: X —_— 6

Y=g+l

| \)G‘h'(‘aQ X=
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J=lihH)
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